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dose uterus dl d2 d3 d4 d5
0.001 100 1 0 0 1 0 }
0.001  102.35 1 0 0 1 0
0.01 95 0 1 0 1 0 | )
0.01 115 0 1 0 1 0

>
10 366.2 0 1 0 1 0
10 332.67 O 1 0 1 0 | J
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ED50

Parameter 95 C.L
3, 1.721 0.339 1.044 2.398
3, 0.415 0.056 0.303 0.527
3, 101.5 7.3 87.0 116.0
B, 348.7 10.7 327.3 370.1
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(ED10 & 90)

ED10 Parameter 95 C.I.
B, 1.721 0.339 1.044 2.398
B > 0.116 0.030 0.057 0.175
B, 101.5 7.3 87.0 116.0
B4 348.7 10.7 327.3 370.1
ED90 Parameter 95 C.I.
B, 1.721 0.339 1.044 2.398
B > 1.487 0.465 0.560 2.415
B, 101.5 7.3 87.0 116.0
B4 348.7 10.7 327.3 370.1
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